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B FEHERT X 1 41, 746, 140
HEELT = 1 6,576, 140
HRHEI T m3 200 65,020 | HRH! 1 =
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AR+ T m3 400 1,660,840 | B (IR %+ 1 &N
2. 5mPL 4. OmARTi ;
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BRE LT m3 400 4,850, 280 | IR RE 1 1 =
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T wb AT 1 2V
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HEKHEEY T = 1 1, 240, 600
AR T = 1 872,400 |7° VEyANUEMRNE 100 m
PU1-B300-H300 ; JEREAF Bcemsv, B HuEm v E Te
AR T 2 1 368,200 | BLGHHT HHEKME 5 (£
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HEAT B MR T = 1 148, 550
EATEY L 2 1 148, 550 | AR5 EIE 50 %N
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Fa T Bh 7K T = 1 1,049,500 |#&HEIFS7K 500 m2
WRIERGK 5 PRIBEARAE, BB B kA | Sl AL s
i
TA7 7 MERZE T (R i S 2%) = 1 3,535,000 |JLJE (HiE - BFHD) 1, 000 m2
FAHDR T A2y (20) SH¥EE 50mm 3. Omi ;
ZJE (B - BIFED 1, 000 m2
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BRLEETATY (20) 5 FEOA, FyJa-METe
Z=lN = 1 4,175, 000
fxa T = 1 4,175,000 |5EY av))-} 500 m2
(BB )
18-8-25(20) (F&i4F)  t=100mm ; 4, EHHA &
i
CEUEVZAR 500 m2
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18-8-25(20) (7&4F)  t=100mm ; 4, EHHA &
i
Bh AT L 2 1 16, 060, 000
PEANIBA AT L X 1 16, 060, 000 |1 =} V= 1,100 m
S Gr-A-4E 100mEl b phAREA IE A  Soie
o7 E.?D‘
e p =/ = 1 328, 400
B BEE T = 1 328,400 |f&ERESHHEIITS 10 m3
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SN = 1 3,531, 150
PR L # 1 3,531, 150 | BRI RS s i 50 #
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HEE L = 1 1, 836, 300
HEYHE L T = 1 1,040,000 |av7)-MiEEWEUE L 100 m3
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TE LB T =Y 1 796, 300 | BOERR 100 m3
a7 — bk ()
RISy 100 m3
20—k (SRR
A Y 1 712, 500
AEEHE T Y 1 712,500 | A3 Wk B2 Y B 1 =
B
[ERAE Xy = 1 41, 746, 140
IR 2 1 4,963, 800
Hom it = 1 58, 800
Bt By 2V 1 58,800 |iEHEHMEZRHEAT ~HIERLEY 1 =
B (FEHL) = 1 4,905, 000
T = 1 46, 709, 940
Bl gy 2 1 21, 463, 000
T =5l = 1 68, 172, 940
— R A 2 1 12, 247, 060
TS 2 1 80, 420, 000
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